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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

CIn]
TAXATION

FeiRa 77 : 3 T2 3BT 3% : 60

Time allowed : 3 hours Maximum Marks : 60
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G) @Y g7 fAard & |
(i)  Je9% Y9 F 3 3% G 1Hd & |
(iii) Fo7 G189 TF & Fo7 3ld TY-IR & & a9l I Fo7 1 3% # & |

(lv) Y97 G&IT 10 T 17 T 3 J97 GIeTd I/ & & a7 Jodh J97 2 37 & & /
GIHI= ®Y & UL UF J97 &7 IR 50 Feg] & 3718 &7 787 817 =030 |

(v) Y97 GEIT 18 T 22 T% & Y97 1 GIeTd IR & & 9T Yodh Y97 3 37k HT & |
I &9 & U8 Th Y97 &1 IR 70 J53] & 37fere &7 787 &7 T30 |

(vi) ¥97 G&IT 28 @ 26 TH & F97 & IH & & a4 IAP Y7 5 37F BT & |
I~ &9 & 04 U Y97 H7 I 150 gl & 37ferk &7 7a1 5141 T30 |

(vii) IR HIered TIT [65aR &1 FeY |

General Instructions :

(1) All questions are compulsory.

(it)  Marks for questions are indicated against each question.

(iti) Question nos. 1 to 9 are very short answer questions carrying 1 mark each.

(iv)  Question nos. 10 to 17 are short answer questions carrying 2 marks each.
Answer to them should not normally exceed 50 words each.

(v)  Question nos. 18 to 22 are also short answer questions carrying 3 marks
each. Answer to them should not normally exceed 70 words each.

(vi)  Question nos. 23 to 26 are long answer questions carrying 5 marks each.
Answer to them should not normally exceed 150 words each.

(vii) Answer should be brief and to the point.

1. TR Afafm, 1961 s amr 80 # W 3T=avid Sfiad ST HiftRm YaE @
TEIf-4d el o g o= g 2 1
What are the rules for deduction for payment of Life Insurance Premium
under Section 80 C of the Income Tax Act, 1961 ?

2. fauior o 2016 — 17 & fou smae srfafem, 1961 6 g 8o T H & &
T gl GLHR UM ThIH | Teh hH=Rl gRT ITEH hl heldl shl AT i
3@ HIN | 1

State the quantum of deduction for the Assessment year 2016 — 17 in
respect of contribution by the employee to Pension Scheme of the Central
Government under Section 80 CCD of the Income Tax Act, 1961.
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3. I3 HIN o TH A ST IAGH W 100% Heldl o g o & | ' 1

Name two funds to which donations made are eligible for 100%
deductions.

4. = g 3feres i Afed ST HiFaS IS AT HlS T, 3MfE T
Sfd bl Ui 9T off Jid 9T T kit hl It B | 1

Winnings from lottery or crossword puzzle or card game, etc. exceeding
T are also subject to deduction of tax at source.

5. W1 60T | HH Y 1 Teh aret aferd fSraehl =@ s1e@t U1 8 I3 3™
TEl & SAMUH B YT o fore ITge 76 @ ? 1

Is a resident individual who is below 60 years of age, and not having any

income from business or profession, not liable to pay advance tax ?

6. &gl & feredl g1 Igrgon 1 IgW hife oA W Ie T @ S g | 1

State any two examples of goods on which VAT is not levied.

7. U fReE QSRR 1 awgsti o A §fve N eifva awgsti’ % ot | aftfoa

fopam T 2 1
Name any two types of goods that are included in the category of
‘declared goods’.

8.  d¢ URFY S hH SETIRAT % hral al (oG 1 3@ HINT | 1

Give any two points stating the need for introducing VAT.

9. Tal = T ‘EASIEST THH 1 8 2 1
What is the ‘EASIEST Scheme’ in Service Tax ?

10. off TR 9 AW I, Uil dd §= & (U FYe @Ry S™ % fou
T 30,000 AT 794 T 3T AT1-faT & T = 40,000 1 JTae R | SRR
AT, 1961 sl 9T 80 € & IT=aTid ATAhad sheldl U hl TUMAT HIfvTT | 2

Mr. X paid ¥ 30,000 for preventive health check up of himself, his wife
and his children and ¥ 40,000 for his dependent parents. Calculate the
maximum amount deductible under Section 80 D of the Income Tax Act,
1961.

11. fo=fm ad 2015 - 2016 & fau aftss amient (60 oW &, 9] 80 9 & =H
3TY) o ToTT ARt o e ITT, ek STTYR W afiss ATTREhT shi ST <IaT ol
Trefor feram ST 8 2

State the Income tax slabs for the financial year 2015 — 2016 for senior
citizens (aged 60 years but less than 80 years) on the basis of which tax
liability of senior citizens is calculated.
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13.

14.

15.

16.

17.

18.

| CBSE-
T AT hl L AT 1 U0 HE F O H 3g@ HIR |

State the steps in the determination of tax liability of an individual.

‘Afim A @ 9 R HEEd § 2 989 § GHesy |
What do you understand by ‘Advance Payment of Tax’ ? Explain briefly.

Fifeh HL TIshT & TAeh =AU W AR ATl 7, o1 1 T8 el Tl 2 foh de
ATTTd: Bt ol hl gl & ? Hard § g9esy |

Is it correct to state that VAT usually increases the retail price, as the
tax is imposed at each and every stage of sales ? Explain briefly.

a1 T § O "ar &1 o1 379 g 2 WE foregl @ TohR <Al JansTl o 9 difau
T2 =fva ganeti & ot 0 afmfad fomn T 3 |

What is meant by ‘Declared Service’ in Service tax ? Name any two types
of services included in the category of declared services.

YT L HT T 31 2 2 T T Tohd TR hT T 8 2
What is meant by Service tax ? What kind of tax is Service tax ?

qRA T TaT L 1 YA Hd TohaT JTar 8 2 THET |
How is Service tax paid in India ? Explain.

9d 99 2015 — 16 3 1T #ff a8 7 19 31 o1 fAfaRaa foewor o= foram 2

-
TR 3T 6,10,000
EPEIRIER UGG E] 1,00,000
el A= 60,000

a8 # 34 Wy i Fafercan o forea & fow t@ifera =<6 g T 12,000 <A1
YA R qen T 5,000 ArEsts vias ffe § s foeu |

g I HATT I I TUET FHIT |
Mr. Y submits the following particulars of his income for the previous
year 2015 - 16 :

<
Business Income 6,10,000
Long-term Capital Gain 1,00,000
Lottery Income 60,000

During the year he paid ¥ 12,000 through crossed cheque as Medical
Insurance Premium for self and deposited ¥ 5,000 in Public Provident
Fund.

Calculate Y’s Taxable income.

306 4
Downl oaded From : http://cbseportal .conf Courtesy :

www chsaportal com

9

CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

[ CBSE

Downl oaded From : http://cbseportal.conm e e
19. ff ga aes favafaae™ & weamss (=) & @1 T 30,000 Yid Hig
Iad, T 5,000 Ui HTE T HETE W1 9T T 3,000 Ui A8 Heb™ fohl@m =i
Ied AT 8 | 98 Y9 ddd T 10% favafaene™ gra smme e wigsy f3fe
JTIEH T 7 |
36k ITH T T g 98 T 6,000 Jid A8 foR W G 331 8 | oW T8
T 3,200 T YTaH foha T | a9 T T hHT Th! q1 9 B W T 5,000 T
[E
38 RO T T 9,000 SATS I F3T, HId T HL Heldt T 1,000 o |
i) o
(i) =R g
(iii) == |t
T 978 <hl 3T hi AT HIT | 3

Mr. Sumit is a lecturer in Lucknow University drawing a salary of
T 30,000 per month, dearness allowance of ¥ 5,000 per month and house
rent allowance ¥ 3,000 per month. He contributes 10% of his salary to
Provident Fund maintained by the University.

He owns a house which is let out for ¥ 6,000 per month. House tax paid
in respect of the house amounted to ¥ 3,200. An amount of ¥ 5,000 was
spent on white-washing and painting of the house during the year.

He received ¥ 9,000 interest on debentures, tax deducted at source was
< 1,000.

Calculate Mr. Y’s income from
) Salary
(ii))  House Property

(111)  Other Sources.

20. #f HAR T fafchcaes 8 | foxa o 2016 — 17 % TOIQ 3Weh! ITATHA L <l
T 1,00,000 7 | T off FUR AW X e o foAg SaeerEt § e T 2 Al =,
al 15 54, 2016 Tk 39 fohaw TR T T YA AT AT o7 2 3

Mr. Kumar is a doctor. His estimated tax liability for the financial year
2016 — 17 amounted to ¥ 1,00,000. Is Mr. Kumar liable to pay advance
tax or not ? If yes, how much should he have paid as advance tax by
15™ June, 2016 ?
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HId W L Heldl hid dTel STk o feheal diF haiedl ol THSTEY |
Explain any three duties of a person deducting TDS.

IR § TGT L 1 YT i b [TT i IR 7 2 WEt fovegl qf fedrfomni wr
ool SHIFTT 8T JaT YTedehdl T L o A o ot gl BT # |

Who is liable to pay Service tax in India ? State any two cases where the
service receiver is liable to pay Service tax.

ol U9 g 31 A€, 2016 I WA gU oW o fou yeqd Fefeiad foemon €@
TRT 80 T o A=A heldl shl S drett St T i Tier, awr 80 & &
=TT held] shl W aTell Tareed iar fiftmm ufyr 9on amr 80 S & A=ia
$® Tl § gF 61 ekt shi Mo i

() oft Tg T 1 310, 2012 B TF & g W T 1,00,000 i Gt 9T
T 10,000 St ST i w1 rae foham e o |gR hi Siaq s
gifcet T T 4,000 T YA TohaT |

(i) a9 A 3| WI & qAT AT Tl b Ty W@y o fiftem
T 6,000 YJTaH foham qon 37U I1g % W@ W T 5,000 BT YTAHE

foT |

(i) o9 ¥ 3T G910 80 S o A=Id 3TH aTcil Toh gAY TEAT S T 8,000
1 g fean qen yaW w= Tsdla TEd Y H T 6,000 1 gH T |

From the following particulars submitted by Mr. Rao for the year ending
315t March, 2016, calculate the amount deductible for Life Insurance
Premium under Section 80 C, amount deductible for Health Insurance
Premium under Section 80 D and Donations to certain funds under
Section 80 G :

(1) Mr. Rao paid Life Insurance Premium ¥ 10,000 on his own life

policy of T 1,00,000 taken on 1% April, 2012 and ¥ 4,000 on the
life policy of his father-in-law.

(i1))  He paid during the year Health Insurance Premium ¥ 6,000 on his
own and his wife’s health and ¥ 5,000 on his mother-in-law’s
health.

(iii) During the year he donated ¥ 8,000 to a charitable trust covered
by Section 80 G and ¥ 6,000 to the Prime Minister’s National
Relief Fund.
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94 9y 2015—16 o€ ot Tem i FgRor a9 2016—17 o 9T HL Il hl
TOTET ﬁﬁm : 5
(i) SIIER ™ T 2,59,400

(i) 9 H I o foshd W Geleprel= GSia @™ T 30,000

(i) TS-SIS AT HIS T Sfid ¥ Tehal ITTed T 4,000

Compute tax liability of Mr. X for the previous year 2015—16 during the
assessment year 2016—17.

1) Business income ¥ 2,59,400
(i1)  Long-term capital gain ¥ 30,000 on sale of gold during the year

(iii) Winning from horse races and card games ¥ 4,000 gross.

forar o 2015—16 6 foTu ot s/t 3 379t o1 & frfafaa foawor weqa fohu -

(i) 9 T 20,000 9 A8
(i) T o HehH § TohtmaT T 36,000

(i) =FSH™ HT AN T 1,50,000

(iv) TSt Sfiad & Hebed TTied T 1,70,000

a9 H 309 ¥ U YR & TS o e o & o Y T 25,000 HfEm
1 PTaH fohan | off s 1 Bl wis foasharm & qon 3| W it g | off 3w 3
I8 H 3Gl Tafercar ® T 50,000 = fhU | 3HA Sfie fiar 7w & U e
H T 15,000 1 Jram oft foran | fafor ad 2016 - 17 % fow 35eht A
3T I AT HIT | 5

Mr. Sharma submits the following particulars of his income for the

financial year 2015 — 16 :

1) Salary < 20,000 per month
(11))  Rent from own house T 36,000
(i11)  Profit of business < 1,50,000

(iv)  Winning from bettings (Gross) < 1,70,000

During the year he paid ¥ 25,000 as premium on the insurance of his
own health and family members. The younger brother of Mr. Sharma is
disabled and dependent on him. Mr. Sharma spent ¥ 50,000 on his
treatment during the year. He also paid ¥ 15,000 to Pension Fund of

LIC. Compute his Taxable income for assessment year 2016 — 17.
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26. fegrsw 2015 W H, IR 3 T 5,00,000 T I=R-TAT fasha fomam | fasha o
fosht o wfrifera 8 dem 3 wid &t & faeg 1 1 ] | v awget & fow o
foshl T 4% 7 |
LA Torshl qAqT <F hrord Torshl T i AT HIfTT |
Ig WA Y Toh U TUSHeha Torshdl 1 si=l T8, a9 Toshd a0 e foishl &
<1 ¥t = geft 2 5

During the month of December, 2015, R made Inter-State sales of

T 5,00,000. The sales are inclusive of sales tax and were made against

Form C. State sales tax rate for such goods is 4%.
Calculate Taxable Turnover and Central Sales Tax payable.

Assuming the goods were sold to unregistered dealer, then what would be

the amount of Turnover and Central Sales Tax ?
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